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Instructions for Candidates

1. This paper consists of 6 questions. Answer any 4 questions
2. All questions carry equal marks

3. Answers may be written either in English or in Hindi, but the same medium should be
used throughout the paper
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Q1. The Indian agriculture is plagued with age old practices that keep its productivity low.
Evaluate this statement and suggest measures to improve productivity in the Indian agrarian
structure. Do you think that the Indian Farm Bills 2020 would lead to a rise in productivity in

this sector?
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Q2. Do you agree with the view that a country that has achieved self sufficiency in food grain
production also necessarily attains food security for its people? Discuss. Explain how

agricultural pricing policy can help a nation attain food security.
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Q3. Do you agree with the view that industrial development in India can be categorized into

different phases? Discuss.
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Q4. Discuss the objectives, rationale, methods and government’s policy on privatization and

disinvestment in India.
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Q5. Analyse India’s new Foreign Trade Policy in the light of giving boost to domestic

manufacturing through Government of India’s flagship “Make in India” programme.
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Q.6.  Write short notes on any two of the following:

a) Indian government’s irrigation policy
b) Labour regulation in India

c) FDI in Indian retail

d) Problems faced by SSls in India
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